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Lwdih pnjwlnuwlinipiniGn

= UwhdwlGwthwl nbunipuph hwulwgnipymn,

= NpnpmuiGtph uwjwgdwl swhwGhon,

= G-0wjhl opwgpiwl fulinpp dLwybpwnidp,

= Q-owyhl opwgpuiwi fulinph nonuip qowlywnph vhongny,

= GnpolGwlwb ophGwyGtin:

UNEFSL

Pliwlw t tGpwnnb], np gnpdwpwpp hp weol nind E htnlyw) fulnhpp
wnwybtjwaqnt)ip fjulwjt] oqunugnnoynn ntiunipultipp L dwpuhdwg it vwwuybihp
owhnijpp: {<bnlwpuwip, Gw hp gnpomGnipjwl pGpugpnid whwmp E hwyyh wnGh
dhwjl wjG owhuutipp b GludnmunGbpp, npnlp wqnmd GG hp Guuwwmwyh ypw' hwu-
(i) wnwybjwqniyG pwhnijph:

Gpt gnpowpupp wpnmwnpnipjwl hwdiwp dh pwih wpnmwngpuumbtuwlyltiphg
wtinp L pnnunih dhwjl duyp, wyw pGwlul t, np YpGupgh wil wpnwnpubpn,
nnl oquugnpoynn vty shwynp ntunipup Gunmdwdp juwywhnyh wnwybjugni) G
2whnyp: buly hGswyt®u YJunyh gnpowpupp mbuwuine puqiuquinipjul nhy-
pniy:

Shunwntlp ntumpubtph pwpfudw6 fulnph ophGwyGhin:

1. n6UNMULELR AUCHUTL LR

Ophlwy 1: «LhmpymG» UNEC-G pnnupymu E ipynm mbuw wpnwnputp A L
B: UGhpwdtipn mbintuwwunynipnilp ptipwo L wnyniuwly 1-nud:

Unyniuwy 1
Oquwgnpoynn vkptGw/dwd 10 8

<nudph ninnuigh dwhuubtp® 200 wd dhy 2000 (10 yq) 1400 (7 4q)
dhwynph hwdwnp (Yq)
Uhnwnwyupd’ 300 wu vkl dwiyw hwiwn 2400 (8 dw) 1800 (6 dwy)
OnihnfuniG yepunhp dwpuu /wyd/ 100 200
Uty dhwynp wpnmwnpulph Yypw Jumwnynn 500 400
thnthnfunitG owfuu /ud/
Jwdwnph ghG /yy/ 8000 7600
Cwhnijp /wyu/ 3000 4000

{wyjwnbh t, np A L B wpnwnpulph yuwhwGownpyp pmyuymd sh ghpuqui-
gnud hwidwywwnwuhpwlwpwnp 1000 L 1500 YhwynpGtph: Upjuwwmwdwdtph b
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utiptGwdwuitph dwdwpwlwlp vwhiwGwihwlyuwo £ hwiwywunwuuwGuwpun
30000 dwu L 10000 dwd:

MuwhwGoymu £ npnpt) wpmwnpnipjwl wjl swjwp (A-h L B-h hwiwnp), npp
wnwytjuwagnijGh £ hwuglnid pwhniypn:

Lniomu:

Uwhdwlwithwynn hwiqudwlpp wpuwmwdwidtph L dbpblGwdwdibph dw-

dwpwlwyl E: Uwnpl wnnuwl 2-nid dhwpbpjwo GG whpudbyn
wnyjwyGbp

wpfuwmnwdwitiph L dtptGwdwdtph unnipjwb yapnionipjulG hwdiwn:

Unjniuwl 2

Upunwnpuwp Unwybtjwqni)i C6n. wGhpwdbyn 2Gn. wGhpwdtpwn
wnpununpwip dtiptiwdwd w2 fuwnwdwd
A 1000 10000 8000
B 1500 12000 9000
Clnwyitlp 22000 17000

Clnhwlnip wGhpwdtyn dhptGwdwitph pwlwyp 22000< 30000-hg, huy
wlhpwdb)n wyfuwmwdwdtinph pwlwyp 17000>10000-hg, htmlwpwp w)fuw-
nwdwitipp uwhiwfuwthwlnn nhunipu k, npnghtimb pGYtpnpynilp Yupnn £ Jup-
4t pnhwitbp 10000 wyfuwmwdwy:

StulGtlp pbt hGywhupl L Wby wluwnmwdwih oqumujuwpmpniip A L B wp-
nwnpwlph hwdwnp

A wpunwnpulph hwdwn YhGh' 3000/8 = 375 (wi/dwd),

B wpmwnpulph hwdwp YihGh' 4000/6 = 666,7(wd/dwd):

Ujuyhuny, quihu tlp htnljwy tgpuhwlqiwb’ uyqphg wpmwnpty vhwjl B
wmtivwy wpnwnpulp b oqurugnpoti] wnwytjugnyyG 1500x 6 = 9000 wpfuwwnw-
dud, uGwgwo 10000 — 9000 = 1000 wpuwwmwdwipn mpuwdwnpb] A wpmwnpuip
pnnuipytima:

GanwywgmpimG 1. Uiupdhliuy pwhnypp [phGh wnunjbjugnip wyl nhuypnid,
bpp pnnquinlpmd’ Fougld wpuowgmulpn, npp mwgho bownwdbpugni G dupdhluyg
owhniyp UG dhun/np nwhdwlunfnul nbunipup Gunndwdp:

GnpoGwlwlnu, tpp vwhdwGwthwynn ntunipultph pwlwyp d6Yhg wytih
oquymd LG qowjhl opwqpiwl tnulwyhg:

Uwhdwlmyd 1: Qowypl opwaepnidp pyughl hwpduwplughlG GowGwl |, npp
hbwpun/npmpyni G F mwghu jugugnijlu oquugnnoty vwhdwGuwly puwGuln-

pjudp wnlp nhunipulbpn:
Nputugh dluytpytiGp qowjhG opwgpiwb fuGnhpb (4-0ho) wGhpwdtynm &
1. ‘bhpdnot) fulnph pndwlnuiynipjuln hwiwywmwuuwlnn thnthnhow-
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qwGGhnp:

2. Quuytinwt) fulinph Gwwwmwlp b dLwytpyty wyn Guuwwwyl wpmwhwj-
wnnn qowjhG pmbGyghwb, nph wnwybjugnjG fuwd Guquqm)l wpdtpp whwp k
npnpyh fulinph nodwl wpnynGpmuy:

3. Guqut] g@owjhl hwjwuwpmibtph U (Qud) wibwjwuwpnmiGinh hwdw-
Jupap, npp gnyyg £ wmwihu Gipdnodwo thnthnjuwlwGGtph dhol tnuwd wpmw-
nnuwbtnuiGulGbnh juwbpn:

4. b2t thnthnfuwwGGbph GQwGGknh Ypw npywo vwhdwlwthwyndGpn,
unynpwpwp Who Juwyd hwywuwp qpnjhg:

Q-0wjhG hwjwuwpmiGtph L (Gud) wihwjwuwpnuiGiph hwdwlwnpgh dhongny
(Qupwqgpynud & pmjumnptih moénuiGhph pmqimpmbp: Ujn hwdwwpgp Yng-
Jnud t Gwl G-Olu-h pojjunptijh jmédmiGhph vwhiwGuhwinudGbph hbwiwljwpg:

Gnp thnthnfuwwGGtph phyp hwjwuwn £ 2-h, wyuw &-0u-p Juptih ooty

qowgnnptG: Fpw hwdiwp yuumwpmd G6 hbnlyw pwjbpp.

Luwg 1. Gwomgmd G0 vwhiwlwhwnuiGiph hwdwlupghlG wwwmlwlng
pninp wlhwjwuwnpnudGhph (hwjwuwpnuiGtph) qowuwwwnmytinGtppn: UpngyniGpnud
unwlnd GG pnyjwwnptih mondGhph puqinpjul qowwwntpn:

Luig) 2.Gwunmgmu GG GuunwluwjhlG $niGyghwjh gnpowyhglbphg Juquiguo
Jtywnp qpunhtlump, npp gniyyg £ nmwhu GuunwlywihG $nGlyghwih wddwb nin-
nnipjniln:

Luy; 3. UygpGwytnng O = (0,0) Ytwnny wmwlmd GG qpunghtiGunhG
nuipquhwjwug ghd: Fw GuwnwlughG pniyghwgh wyb swlwpnuyuwiha® ghdG t,
nnh Yypw Gpu wpdtipp hwjwuwn k gpngh:

Luwjy; 4. Uwpuhdwgdwl (WhGhdwgiwl) huGnpp ghypnd dwupnuyughG
qhop qpunhtiGnp ninnmpjudp (hwjjwnwly ninnnipjuwdp) wmtinuihnfumd GG hptG
qniquhtin  (mnnwhwjwg qpunhtGnhl) UYhGsk hwulmd GG poyuwwmpth
monudGtph  pwqumpyulG bGqpuwjhG YtwhG (mpytu YJulnG pwqiwGyjwub
ququphl), npntn GuuuwyuwjhG $nlGyghwG plnniGnd £ hp wowytjugniG
(GJuquqgniyG) wpdtipp:

Ly 5. Uwpuptwgiwl (GhGhdwgdwl) fulngph  hwdwp  unwgyuo
puqiwlluli ququpp hwlnghuwlind £ 4Ol-h  jwjwgnyl monuip L
(ywunwluwjhG $niGlyghw plnnilGnw £ hp wnwytjuwgnyG (GJuquqgneyG) wpdtipp:

OnhGuwy 2: tnGwpympjnilp pnnupymd £ U L £ mbuwy wpnwnputp: U wp-
nwnpuiph phpugiwl dSwjwip Juqimd £ & wpnwnpuiph hpugdwl owdwih

@ 2hytiglitiGip, np npLk $niGlghwh dwiwpnwljwiht ghop Yhnbnh w) puqinip)nia t,
npuntin $niGlyghwb pGnniGmd t ubktinwo hwumwwnniG wnpdtip:
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30%-hg ngy wuywu: UpnwnpnipjniGp Juqiwytpytine hwiwp yuwhwloynn hnidph
Uty pwpwpdu yuwpwpp Juqinud t 20000 wu:

<wywmGh £, np U wpmwnpubph kY shuynph hwdiwnp hmdph dwfuup fuqinnd
£ 400 wy, huy £ wpunwnpulphGp’ 500 wud: U L & wpnunpulph Judwnph qlGtpp
hwiwywunwuhuwGwpwn hwywuwp GG 500 L 700 wu:

hGspw®a wtwnp L wpnwnpty U L £ mbuwyh wpnwnpulp, npuytugh dtin-
Gwnpynipjnilp 6 pwpwpyw plpwgpmi unwiw wnwybjwagni)G hwunijp:

Lnionud:

Ly 1 bhipdmoblp x Ly thnthnfuwuGGhpp

x-n’ U mtiuwl wpmwnpulph wihwjm owjuwil t,

y-n' 2 mbtuwyh wpmwnpulph wihwym owjuyl k:

Luwjp 2: Llwpwgpblip vwhdwwhwyniGiph hwiwuwpgp, npny npnyynid

L fulinnh pnyjuwmnptijh jmonuiGtiph puqinipymGn:

1. U wpunwnpwiphg yhwnp t pnnupyty ny yuwjwu pw & -h 30%"

x 2 0,3y Juud x- 0,3y > 0:

2. UL & wpnmunpubp pnqupybjm hwdwnp hnwiph dwfuuh vwhdwGuthwynudG B

400x+500y < 20000:

3. U L £ mbuwyGhph wpnmwnpulp pnqupynud GG, Jud sh6 pnquipynud’

x>0, y>0:

Lug) 3: ulnph GyuwunwlwjhG $nbGlyghwb hwunyph dwpuhtwgniG k

Z(x,y) = 500x + 700y— max:

Lu)) 4: Yunmghlp pnyyjwwnptijh nuonwiGbph puwquinipnln:

Onyjuunpbh monwiGtph pwqimpiniip npnpymd L htinlyw; wihwjuwuw-
pnuiGhph hwdwlwnpgh monudGtiph pwqinipjudp’

{4OOX + 500y < 20000
x—-03y=>0
x>0,y>0:

GQunmgtilip 400x+ 500y < 20000 wihwjwuwpiwl qowywwmytipp: “pw hw-
dun Juqunud GGp htnljw hwJuwuwnpnidp® 400x+ 500y = 20000:

Gunlnd tlp pym Y YnnpnhGuwmwjhl xOy hwppnipjwl Yypw, npnlp pw-
Juwpwpnud GG 400x+ 500y = 20000 hwjwuwpdwlp L thwglmyd tlp wyn Yhnmbpp
ninhn qony, npp pwdwlnw L xOy hwppmipjnilp tpynt jhuwhwppnipjuG:

Unwohl Ytwnp qubtint hwiwp ybpgGting x= 0 unwlmu tGp* 500y = 20000-h,

nputinhg” y= 20000/500 = 40: Ujuyhuny unwlnd tlp 400x+ 500y = 20000
ninh Yypw qubynn (0,40) Ytwmp: <wynbh £, np gwiugwo mnhn ghd npnpymd k|
hnptl uwuywbnn tpym Yenny: Gpypnpn Yenp gl hwdwp YtpgGulp y= 0,
wjn nhypmd 400x+ 500y=20000 hwjwuwpnihg htimlmd E, np 400x=20000-h,
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httnmlwpwnp x=50-h L uvnwblmu tlp (50,0) YnnpnhGwwnbtpny 400x+ 500y = 20000

hwjwuwpiwlp pwjwpwpnn nnhn qohG wwwlwlng tpypnpny Ytump: Uydd
Junmgtilp tpynt Yanny' (0,40) L (50,0) wlglnn mnhn qoh® 400x+ 600y = 20000
qowwywwnytinp (nt'v qo.1):

A
50

N

30~ (1)

400x+500y=20000 --1

10

10 0 10 20 0 20 50 60

Q0.1
L mbinunntny (0,0) Ytwh YnnpphGuwwnmGhpp 400x+ 500y < 20000 wlhwjuwuwpiwl
ut9 unnqtlip® 0+0 < 20000-hg wGhwywuwnpnipjwl Gyunnipnilp. wWuwunwuhuwln
nnuwywl k: Gowwwnmytph ypw vjupbtinpny gniyg L njwd wyl jhuwhwppmpnGp,
nph Ytmtpp pwjwpwpnid GG 400x+ 500y < 20000 wihwywuwnpdwbp:

‘LG Yhpy Yupkih £ Jupdt x - 0,3y < 0 wihwjwuwpdwl qowuyunybpp
Juwnmgbimt hwdwp: 9pw hwdwp wihwjwuwupnip dlwhnfumd 66 hwjw-
vwpiw(: UpynilGpnd unwlnd GG ninhn qoh hwjwuwpmip® x-0,3y = 0: bGswtu
ghwtlip ninhn ghop npnpynid £ ninnhl yuwwmywlnn pyne Yhnny:

dbpp Gupugpduo tnuGuyny YnnpnhGwumwjhG xOy hwppmpjul Yypw
quinud kG tpym Y L shwglnid minhn qony (nb'u qo.2): Stinunptilp xOy hwp-
pnipjwl nplk Ytwnp (ninhn qohG syquunulnn) YnnpnhGuwnGtpp, oppGuy, (10, 0)
ytunh YnnpghGuwwmGbpp wihwjwuwpdwl ke, npybtugh uwmnmqblp YtpohGhu
Ghpwu [hGhp

x-03y>20? = 10-0.3 x0 =0:

Muunwufuwln npuywé k. 2-pn gowwyuwwnltinh ypw vjwpltipny gniyg £ mjuo
w) G Yhuwhwppnipjnilp, nph Ymbpp puuwpuwpnd GG x - 0.3y > 0 yquwjdwGhd:

<wpyh wnGhmny, np x 2 0 b y 2 0 uvnmwlmd GGp nhumwpyynn fulinph pniy-
wwnpbijh (nuonudGuph S pwqunipynilp (nbu qo. 3):

Ujdd qunGhlp wjl (x*,y*) Yhwunp, npp Jwpuhdwglnd k dbp fuGnpph Guuwnw-
JuyhG pniGyghwb Z(x*,y*) = 500x* + 700y* = max Z(x.y), V(x,y) € S:
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x-0,3y=0 --------- 2
50 \
30
@
10
-10 / 10 20 30 40 50 60
LI Q0.2

Qw hGupwanp & juwnwntg Gptip tnuGwGtpny (nt'u qo.4):

Unwohl tnulwl.

Ulqpnud qultlp S puqiwllyjul pmnp ququpltph ynnpphGuwwnmGbpp (nt'u
q0. 3), wyw hwpytilp Gyuwwmwlwjihl pniGyghwyh wpdtipGtnl wyn ququpltpnid
L ytipgltlp wjG ququpn, nph Yypw Gwunwlwihl dnmGyghwb pymbGmy E hp
wnwytjuqgni)G wpdbpp:

Ujuyhuny wbtwmp E quGhlp O, A, B ququwpltph YnnpphGwwmGtpp: O
ququph YnnpphGuwwnGtpl GG (0,0) L Z(0)=Z(0,0)= 0: B ququph YnnpnhGwwnG t
(50,0) L Z(B) = Z(50,0) = 25000: dtpowwtu, npytiugh qunltlp A Ytwnh Ynnpnh-
Guwwunltipp, wtwunp E muotilp htnlyw hwjwuwpmiGbph hwdwljunpgp

x— 03y=0

{400x +500y = 20000 ()

x= 0.3y wpnwhwjmmpjmbGp mtnunptiny (1) hwiwwpgh 2-pn hwjwuwn-
dwl dto x thnthnjuwljwGh thnjuwpbG unwGwlp®

400-0.3y + 500y = 20000

120y + 500y = 20000

620y = 20000

y = 20000/620 = 32.258=~ 32.3,
httmlwpwn x=0.3-y=0.3-32.3=9.7 (m):

Ujdd Junnn GGp hwpyt) GuyumwywjhG $niGyghwjh wpdtipp A Yhmmg®

Z (A)=71(9.7,32.3)=500- 9.7+ 700-32.3 = 4850+ 22610 = 27460 (wv):

Uunwgulp GuyuumwyuwjhG $niGyghujh wnwybjugni) wpdbpn:

NMuwuwuhuwG.

U wpumunpuwiphg pnnqupyti 9.7 m, & wpnmwunpwiphg pnnunyty 32.3 w,
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dtnGwpynpjul wnwybtjuwagnyyG hwunypl £ 27460 wu:

—— 400x+500y=20000 --1
@

A9,7;32,3)

-10 60

Q.0.3

wGul.

Gunmgtlp Guuumwlujhl $niGhghwih dwjupnuljwjhb qotipp (nbt'u qo. 4):

Uwljwppuluwyhb qotn Juemgtim hwdwnp Guunmwluwyht $nGyghwihl mwihu
tilip npnpuh wpdtpltip, ophGwy Z =0, Z = 14000 L Z = 27460 L. yunmgnud LGp"

500x+700y=0,

500x+700y=14000,
500x+700y=27460

ninhn qotinh gowwwwmytipnGtpp (nt'u qo. 4): 4-nn qowGlwnphg tplnd £, np
A= (9.7, 32.3) YynnpnhGuwwnGtp nGtgnn ququpny wlglng dwijwpnuwlwjhG qoh
Ypw Guuunuyuyhl $nGyghwb pnmGmd E hp wnwytjuqgnjG wpdtpn:

Gnpnpn tnuGul.

Uju tnulwlyh Yhpwndwl hwiwnp unmgnmd GG Guuwwmwlwjhl dnGlghwjh
wjuybtiu Yngdwo ytlymnp qpunhtiinp, nph pwnunphyGipG 66 GuuwuwmwlywjhG
dniGyghwjh x Ly thnthnfuwwGGtph gnpowyhgltpp’ gradZ = (500,700):

{wjwGh t, np gradZ = (500,700) ynnpnhGuwmGtpny Yytyumnph mnnmpjmGp
Gn1jGG E pGy (50,70) ynnpnhGuwnGtpny ylunnph nugnnipjniGn:

4-pn qowGyupnd Junniggwo t (50,70) YynnpnhGuwwnGtipny yayumnpp:

{wjwnbh £ Gul, np Z qowyhG $niGyghwjh qpunhtiGup (gradZ-p) ninnuhwjwug
E wyy GnyG $nGyghwjh guwluguwo dwupnuyuwghl qohlG, dwulwynpuugtu

uyqpluytimny wlglnn htnljw SwwupnuywjhG qohG’
Z = 500x+ 700y= 0:
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—400x+500y=20000 --1

75

50

1)

6
30 4
10 -
6\
—1‘0 q

— x-0,3y=0 --------- 2
—500x+700y=0 -------- 3
A(9,7;32,3) —— 500x+700y=14000 -4

—500x+700y=27360 --5

/ -
!AZ 10 20 N / 50\8(50;%
h I @
q.0.4

Z = 0 dwwpnuyuwjhl qholG mnnuhwjwg b gradZ= (50,70) ytyunphG L
wlglnud £ xOy hwppnipjuG uyqplulytimny (nbtu qo.4):

Z=500x+700y= 0 dwjupnuyujhb ghop undbny GyyuwmwlwjhlG $nbGyghw-
Jh ytyunnp gqpunhblnh nunnnipjuwdp Gumnd Glp, np wjn nignnipjwdp 2wndyb-
1hu GuyuwwunwlwjhG $nGyghwyh wpdtipGbpl wénd G6G: UpnyynGpmy unwlnid Gip
nhunwpyynn Q-6lu-h tkq wpntG hwjmGh jwgugny G onin:

Ophlwy 3: CGYyLEpmp nGp wpnwnpnud | Gpynt mbuw wpnwnpulp’ oquw-
npotiny A, B L C mtuwlh hmip: Fpwlg wuwpwnpp, v dhwynp wpnwnpuiph
hwdwp oquugnnoynn hnudph pwGuwlp, yudwnph qGtpp U thnthnfuniG Swuubkpp
ptipdwo GG 3-pn L 4-pn wnymuwibpnud: MwhwGoymd b qubly I L I mbuwy wp-
nwnpwlph pnqupuw6 w6 dwywin, npp dwpuhiwgnud £ pGYtpnipjw6 pwhnyypp:

Unjniuwy 3
<nuip (4q)
Upunwnpulp A B C
I 2 1 1.5
II 3 3 1
Muw)wn 48 36 30
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Unjniuwy 4
Upunwnpuwp Jwdwnph qhl OnthnfuniG dwjuu
/yu kY dhwynp /i dkYy dhwynp /
/
I 4 2
I 7 4

Q-0lu-h dwpbivwnhyuwwb dnnbip hbnlyuy G £

2x + 3y — max

2x + 3y < 48,

x + 3y < 36,

1.5x +y < 30,

x2>20,y=>0:

Lmonud:

Yunmghlp 2x + 3y <48 wihwjuwuwnpiwl qowuunybtpp: “pw hwdwnp gptilip
hudiwywnmwuhiw G hwjwuwpnip

2x + 3y =48:

Ujdd whwp E qubklp tpynt Yhn YnnpphGwumwihlG xOy hwppmpjwl Yypuw,
npnlp pwywpunptkG 2x + 3y = 48 hwjwuwpdwln L dhwglhlp wyn Yhnmtpp ninhn
qony: dbpglbny x= 0 Junwbwlp' 3y = 48-h, htmlwpwp y=16: Unwugwlp
2x+ 3y =48 munnh Yypw quliynn (0,16) Ytnp:

Gnypnpn Ymp quGint hwdwnp YtipgGelp y = 0, wyn nhiypnid 2x+ 3y =48
hwyjwuwnpniihg htimlmd b, np 2x= 48-h, x= 24-h L unwlmu bLGp (24,0) Ynnpnh-
(wwnGtpny dtip ninhn qohG ywwnywlng Gpypnnpn Yhwnp:

Ujdd unmgtlp (0,16) L (24,0) ytwntinny wlglnn ninhn qghop (nbu qo.5) L
mtnunnpbny (0,0) Ytwnp YnnpphGunmGhpp 2x+ 3y< 48 wihwjwuwpiwb vk unni-
qtiip 0+ 0< 48-hg wlhwjwuwpnipjul G)unnmpjmbip ywnmwuhuwlp gpuyul t:
QG owwywumltph Yypw vjwpltpny gniyg £ mjwd wjl Jhuwhwppmpynbp, nph Yb-
wmtinp pwjwpupnud b6 2x+ 3y< 48 wihwjwuwpiwbp (nt'u qo. 5):

‘LniyG Yhpy Yuptih £ Jupdb x + 3y < 36 wihwjuwuwpdwl qowyuwnmybpn
Juwnmgtim hwdwp: dbpp Gupugpjuo tnuiwyng quind tlp Gpym Yhnbp
(0,12) L (36,0): UnnpnhGuwnwjhlG xOy hwppnipjwl Yypw Gyl Glp wyn Yanbpp L
dhwglnd ninhn qony (nti'u qo. 6):

Stinunptilp nplk, opphGuy’ (0,1) Ywmh YnnpphGuwnbtpp x + 3y < 36 wihww-
uwnpdwl dte, npuytiugh unniqbbp YytinohGhu a2uwpunnipnilp

X+3y<36—> 0+3x1=3<36:
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A

35 4

2x+3y=48 ----- 1

25 4

’/\ (0:16)

15 7
1

Q0.5
Muunwufuwlp gpuyui £ L 6-pp qowwwwmybph Yypw vjwpltpng gnyg k&
nywod wyl yhuwhwppnipynilp, nph Ynmbpp pudupwpma 6 x+ 3y < 36 wquwydwGhG:

A

(=}
\/

10 L 10 20 30 a0 X

q.0.6

Ujdd Junmgtilp 1.5x+ y < 30 wihwjwuwpiwb qowwyuwmytipp: Guqind tip
hudiwywnmwuhiwl hwjuwuwpmip' 1.5x+ y = 30 L ytipp Gupugpuo nuGuynyg
qulind LGp tpym Ytwnbp® (0,30) L (20,0), npnlp pwdwpupnd GG 1.5x+ y = 30-h
hwjwuwpdw(: xOy hwuppnipjwl ypw Junnigmu GGp 1.5x +y =30 qowjhl dnGy-
ghwjhG hwdwywwnmwufuwlnng mnhn ghon (nbu qo.7):

Stnunptilp nplk, opphlGwy” (1,1) Yewmh YnnpphGuwwnmbhpp 1.5x + y < 30, wihw-
Juuwnpiw@ dto, npytiugh unniqtlip wihwjwuwpdwb 6)dwpnnipnilp

1.5x +y<30—>1.5x1+1<30:

Muunwufuwln npuyuwé t L 7-pg gowGwph Yypw vjupltpny gniyg L mpguo
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w6 Yyhuwhwppnipynilp, nph Yenbpp puduwpwpnd GG 1.5x+ y < 30 wyuydwGhG:

t

35 |
— 1,5x+y=30 ----3

&)

25 4

15

s O s 1 1 i% s 3 3 40
5
Q07

Uhwpbiptiny qowyuwmnmybtpnGtpp vnwlnd tGlp dtp fulinnh pnyjjunnth ini-
onuiGtinh puwqumpnilp (nk'u q0.

35 4
— 2x+3y=48 ----- 1
® —— X+3y=36 -2
o5 | —— 1,5x+y=30 —3

X
‘_V
40
8) Q0. 8

dbpowytiu yunmghlp Guuumwyuhl' =2x+3y dmGyghwjh dwjuwpquyu-
JhG qotipp
=2x+ 3y=0, f=2x+ 3y= 30, f=2x+ 3y=48
L (2,3) ytiwmnp qpunhtlunp (nb'u qo. 9):
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—— 1,5x+y=30 -3

—f=2x+3y=0 ---4
—f=2x+3y=30 --5

——f=2x+3y=48 ---6

q.0.9

Q-0wlywphg tplnd £, np BC hwnywoh pnnp Ytnmbpp hwlnhuwlnud GG dtp
fulnnh hwdwn jwyuwagni)G nronwiGtp, npnyhtinke BC hwmywoh Yhmtipp qulynid
LG f=2x + 3y= 48 Gywwumwluwjhl $niGlhghwjh Jwuwpnuywihl qoh Yypw, htinlw-
pwn nhunwniynn fulnph Guuwumnwluwht pnllghwih wnwybjugniyG wpdtipn hw-
Juwuuwnp k£ 48 wu: Qpwtiugh quGhklp nplk juywagniyG niomd wihpwdtywm L hwyytyp
BC hunyjwohl yuumwlnng nput Ytnmh x by YnnpnhGuwnmGhpn:

OnhGuy, C Yanh YnnpnhGwwmGhpp qubtint hwdwp notilp htnbyw hwjw-
uwpnuiGtph hwiwyupgp'

{ZX +3y =48 .

1.5x+y=30"

Gnypnpn hwjwuwpnuip puqiwyuwuntlp 3-ny L unwgywd wpnynilphg
hwGklp wnwohlG hwyjwuwpnidp YumwbGuwlp x-h wpdtipp® 2.5x =42,x=16.8 (1q),
htimbwpwp y = 30-1.5%, y=30 -1.5x16.8 = 4.8 (19):

Muwuwufuwl. I wpnunpuiphg whwp L pnnupyty 16.8 Yq, huly II-hg" 4.8 Yq:
Unwybtjwaqny)G pwhnypn YihGh 48 wu:

Ophlwy 4: «UjmniGhp» pwdGtmhpwywl nGytpnipniin wpnwnpnd © pung-
pwytGhph Gpym mtuwlwbh I U II, ogqmwgnpotinyg GnijGwwhy vwppwynpnid-
Gtip, tptip mbtuwyh hndp, hGywbu Gwl pwpdpnpuly nt gwopnpuwy w2 uwwnmwip,
npn (hihnwynpjuwo sk Uty dhwynp I U I mbuwyh pungpwytiGhph hwdwnp wp-
nwnpuluwb dwuubpp L ywdwnph qGhpp pipdwo 66 wnynuuwly S-nud:

{wjwbh £ Gul, np 19 wnwohl wmbtuwyh wpmwnpulp pnnupytiine hwdwn
wlhpwdb)m £ oqumugnpoty 0.3 wnwohl mbtuwyh, 0.2 ¥ tpypnpny mbuwyp 1 d



1. ObunipuGtiph pwpudwG fulnhp 206

tippnpn mtuwyh hnwdp, huy II mtuwyh 1 Wi wpnmwgpulp pnqupytine hwdwnp
hwiwywunwuppwlwpwn' 1, 0.8 L 0.5 U hnudp:

Unjniuwy 5
JQwswnph ghGp L wpnwnpuwl LwngnuytiGhp / Tud /
owfuutipp I mtiuwy II mtiuwly

1. Jwdwnph qhb 470 530
2.Upnunpuyub dwjuubp (Chwynp/wy)

w) hnuip [ mbuwyh (1wy) 30 90

p) hnudp II mbuwlh (1ugd) 70 80

q) hnudp I mbuwyh (1yd) 20 30

) uwppwynpmu (dw) 50 40

t) pupdp npuyh wuwwmwlp (dwd) 100 120
) dhohlG npwyh wpfuwwmwbp (dwi) 80 50

0) wj] Swfuutip 50 30
Cwhnyyp 70 90

dtnfwpnmpjub nijujh htnmwgnuniwG pwdGh wyjwiGtpng pGulyynpjwb
onwljwl wwhwGowpyp II mtuwyh pwungpwytiGhph Guumiwdp ny yujuwu pwi
10U E:
dtinGupynipjmGp wpmwnpuyjul yqujiwbiitphg tiGtnyg wytwnp k& 2-pn mtuw-
Uyh hnudp oquugnnoh ny wytith pwG 40 wu, huy 1-hG mtuwyh hnwdp ny; Wujwu
pw( 30 wu L 3-pn mtiuvwyh hnudp ny wwlwu pwG 50 wu:
N°n mtuwyh b hGspw®a pungpuytlGhp whwunp £ wpnwnph dtnGupympjman,
npuytugh wywhnyh wnwybtjugnyyG pwhnyp:
Lnwonuu:
Lowlwytbp x L y hnthnjuwwbitpny hwiwyuwwmwujuwGuwpun I U I nb-
uwyh pungpwytiGhph wpnwnpnipjwl wlihwjm dwwGbpn:
Qnblp pniyjjuunnbih nomuiGhph S puquinip nilp Gupugnpnn vwhdwGuwthw-
YnuiGtiph’ @owjhl wlhwjwuwpmuibGbph hwiwljwngn:
Unwohl mtuwyh nbhunipuh ytpwptinyw qowjhG wihwjwuwnpnuiG £
0.3x + 1-y > 30:
Gnypnpn mbuwyh nbumpuh yipwpbpjwy @owjhl wihwjwuwnpnil k
0.2x+ 0.8y< 40:
Gnpnpn mbtuwyh ntunipuh ypwpbpywy qowjhG wihwjwuwnni@ t
1-x+0.5-y>50:
Lungptinkih ywhwlGownyh vwhiwfwhwynuibtpt G6G* x> 0, y=10:
‘LuywwnwwihG $niGyghuyh gnpowhgltppn qunlhnt hwdiwp wihpuwdb)wn k
Jwdwnph qGhg hw6b hwdwwywwmwufuwl thnthnfumG dwjuutinp: GunmwGuip
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uty vhwynp wpunwnpwlphg vyuwuybihp hwiwywunwufuwlwpwp 70 L 90 wu
2whnyyp: Unynuuwyh gtipehG wmnnnud pipqwo G6 I U I mtuwl wpnwnpuph dty
Uhwynph (14q) udwnphg wyGwinn zwhnipp:

LywwnwwihG' R(X,Y) $niGyghwb mGh htnlyw) mbupp’

R(x,y) = 70-x + 90y

wjumtin hGywybtu hhpmd Glp x L y-p I L II mbuwyh wpmwnpubph owywyGhnG
LG:

JLuybtpytlp qowjhG oSpugniwi fulinph Ywpbdwnhyuwlyuwb dnnbin:

Gty

R(x,y) = 70-x + 90y

Injghwjh wnwytjugnyyG wpdtipp, ywjiwlny, np x L y thnthnjuwyuwGGtpp
wtwmp L pwjuwpwpbl htnlyw) vwhdwGuwihwynudGhphG.

0.3x + 1-y > 30:

0.2x+ 0.8y< 40:

1-x+0.5-y2>50:

x>0,y2>10:

Quinnigtilip fulinph pnyyjuwwnnpbih monmdGhiph puqumpniln” S-p:

Unwohl wihwjwuwnnuip nupdimy Gip hwjwuwpnid®

0.3x+ 1y 230 —» 0.3x+1-y=30:

bGy;wtu ghnblp wjn hwjwuwpdwl qowwwwmytpp ninhn gho k£, npl wig-
(ind £ (0,30) L (100,0) Ytnbpny: UnnpnhGuwmwjhl xOy hwppnipjwl ypw Junni-
gtiGp (0,30) L (100,0) Ytimmtipp vhwglnn ninhn qhop, npp pwdwlnd t wdpnng hwp-
pnipjnilp tpynt Yhuwhwppnipjul: (Opytugh quGhlp, pt np Jhuwhwppnipjw
YtintipG GG pujuwpupnd 0.3x + 1y 2 30wGhwjuwuwnpiwlp, whwnp E mbnunpt) x-
h b y-h thnfuwptl xOy hwppnipjwl nplt Yhwnh YnnpphGuwmGhpp, pwjg wyluhuh
ytinh, npp sh quGymd wjn ninhn qoh ypw: OphGuy, (0,0) Yanh YnnpnhGuwnGhpn:
Uwnwlnud tGp 0.3 - 0+1- 0 > 30, 0> 30:

(0,0) ytwmph YnnpphGuwnGtpp k6 pujupuwpnd wGhwjwuwpnipjuwlp, hb-
wmbwpwnp ponp wjl Yhumbpp, npnlp ywwwmwlnd GG dynw Jjhuwhwppnipjwulp
hwlnhuwlmd GG nphnwnpyynn wihwjwuwpiwl momdGhn:

0.3x + 1-y > 30:

Bnynnpn mbuwy ntunipup Yyepwptipyu) qowjhl vwhiwGuwthwynidG b
0.2x+ 0.8y< 40:

Gnpnpn mbuwyh ntunipuh ypuwpbpjwy qowjhG vwhdiwGwihwynwi( k'
1-x+0.5-y 2 50:

Lungpwytiihph ywhwlownyh vwhiwlwthwynuiGupt t6* x>0, y=10:



1. ObunipuGtiph pwpudwG fulnhp 208

‘Liwl tinuwbwyny unnignmd tip djniu tpynt wihwjwuwpnidGhph nuond-
Gtph pwquinipymGp’
0.2x + 0.8y <40
x+ 0.5y 2 50:
UjG Ytwnmbpp, npnGp plnhw6nip 66 tptp wihwjwuwpmdGiph pomdGhph
puqunipjmGGtph hwdwp Juquimd GG ponyjuwmpth nuondGhph S puqdnipyniln
(nbk'u qo.10):

60 A

— 0.3x+y=30 ---1
50 \_‘\ —— 0.2x+0.8y=40 ---2

x+0.5y=50 ---3
40 -

30 ¢

20 -

53\ 100 ™~ 150 200 ™ 250
.

q.0.10

LujuqgnyyG monuip quitim hwdwp oquuytiip qpunhtiGnp tnuGwlhg:
‘LywnwwjhG $nbGyghwjh qpunhtiGunG t (70, 90) Yyywmnpp:

Quinnigtilp (70, 90) ynnpnhGuwnbtpnny ytyumnpp: hGyuybu ghnblp qpunhbG-
un gniyg L mwihu Guuwunwuihl $nlGlhghwih wddwl mgnnipyniln: UyqpGuyt-
nny mulhbp R(x,y) = 70x+ 90y = 0 dwjuwpnuluwjhl qghon, npG nnnuhwjwg k
ytywmnp gqpunhblupb b pupdytiny wyn mnnmipjudp fhwubtlp B ywnhG, npp L
utip fulnph jwwqniyG nionidG k:

Qutlp B ytwmh YnnpphGuwmbtpp: pw hwiwp wihpwdtym £ qult (2) L
y=10 ninhnGtph hwndwG Ytwnp: y hnhinfuwyuGh juwjugnyG wpdbpp wpntl
hwjymGh £° hwjwuwp £ 10 (d): Stnunpbiny wyn wpdbtpp Gpypnpn’
0.2x + 0.8y =40 hwjwuwpiw vt Junwlwlp
0.2x +0.8y=40, 0.2x+0.8-10=40, 0.2x =32 = x=160:

‘LuywwnwwjhG $niGlyghwjh wpdtpl £

70x+ 90y=70x160+ 90x 10 = 12100 (wyu npw):

MNunnwuluw.

dtnGwpympjnilip whnp £ wpnwnph' I mbuwyh pungpugtthp 160 wd, I
wmbuwyh’10 wd L dnGuwnynmpjwl yuhnypp hwjwuwn YihGh 12100 wyd npuad:
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2. usnra-NUuuUlVL LUrseGr

1. Quuytpuwby qowjhG opwqpiwb fulnhpp (¢0u-n):

2. N0°pG t Q-Blu-h pmgjuwnnpbh nuonudp:

3. N°pG t Q-Bhu-h pnyyjuwunpbih (nuomdGph puqdnipymGn:

4. Q.0lu-G wpryn®p dhywm dwpuhtwgdw fulnhp k:

5. Q.0lu-h Guuunwlwjhl $niGhghwb Junpn®n b jwjuagmyl wpdbpl pGnm-
(b pnyjjunmnbih monudGtnh puqinipjul mwpptp Yembpnud:

6. Q-Olu-h jwyuqniyG imonip wpnynp Ythnfuyh®, tpt vwhdwGuhwymiGs-
nh hwiwlyuwnpghg wpnmwpuytl wjl vwhiwGwhwyniGbpp, npnlp wpymyd GG
fuhun wlhwyjwuwnpiwl mtupny:

7. G0 dwpuhdwgiwl fulnpmy jpugnighy vwhiwlGuwithwynd Gipdmobny
dhpw Jupbh £

w) dhowg ity Gyuwunuyujhl $nGyghwjh jujugniyG wndbpn,

p) thnppwg Gty GywunwlwjihG pnGyghwjh jwywagni)G wpdbpp:

8. Q&0 uvpGhiwgdwl fulnpnmd jpugnighs; vwhiwlGuihwymd Ghpdnmoting
dhpw Jupbh £

w) dhowg ity Gyuunuyujhl $nGyghwjh jujugniyG wndbpn,

p) thnppwg Gty GuwunwlwjhG $nGyghwjh jwywagni)G wpdbpp:

9. G.0lu-h jwjugnyyG monudip GuyumwywjhG $niGlyghwjh gnpowlihgGtph
thnthnfunipjmiGhg sh thnfuynud:

10. G-0lu-G Ywnnn £ nGGGwy poyjumptih peond, pwjg snlGtGuwy juguagniyG
[moniy:

11. Q-Blu-h pnyjuwnptijh montiGhph pwGwyp Junpnn k 1hGb;.

w) nuinwny,

p) uwhywGwthwy,

q) wluwh'iwlwhwy:

12. Q-Olu-h jujwgniyG nuondGhph pwGuyp Jupnn k 1hGty.

w) uinwny,

p) uwhywGwthwy,

q) wluwh'iwlwthwy:

13. Gpb Q-Olu-G miGh pnyjjuwmnbh niond, wuqw mGh Gl judugniyG ni-
onuu:

Stuwhl wyluunnuwlp

Lmoty hbnlyw) 9-6lu-p gowwuwmytinh thongny.

luGnhp 1: QtnGwpynipjnilp pnqpupynid £ Gpynt mbuwy wpmwnpubp: Unw-
ohG mbtuwl wpmuwnpuiph hpwgdwb Swywp yuqind £ Gpypnpng mbtuwl wpnw-
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npulph hpwgdwl owyuwih 40%-hg ny wytih: Gpynt mbuwl] wpmunpubpltph
pnnupiwl hwdiwp ywhwloynn hnwiph vkl wiujuw wuwywnpp 1000 dhwynp E:
Uty dhwynp wpunwnpulp pnnupytint hnudph dwjuup wnweohl wntuwyh hwdiwnp
Juqinud t 10, huy Gpypnpgh® 20 dhwynp: Unweohl L Gpypnpn wmbuwl wpunw-
npulpGtph qGtpp hwiwywunwujuwlwpunp hwjwuwn GG 200 L 300 wu-h:

Nppw®G wbwp bt pnqupll; wnweohlG L tpypnpn wbuwlh wpumwnpuip,
npubtiugh dinGupympniGp vnwliw wnwytjugnyyG hwunyp:

Muwunwufuw. 16.67, 41.67 , 15833.33:

IuGnhp 2: YtinGwpympjnilp pnqupynd £ U L 2 tpynt mbuwl wpnmwnpuGp:
U wpunwnpulph hpugiwl dswjwp Juqind E pnphwinp wpmwngpulph hpug-
dwl owywih 40%-hg ny; Wujuu:

Gpym wntuwl wpmuwnpuliplbph pnqupliwl hwdwp ywhwGeynn hnudph
uty opw dwhuup Juqunud E 400 wd: U wpunwnpubph hnwiph dwjuup Juquinud £
10, huy £ wpunwnpulph hndph owjuup’ 20 wu vkYy Yhwynph hwdwp: U L £
wpuunpuipltph qGtpp hwdwywwnwuhiwGuwpwn hwywuwp G6 50 L 80 wu-h:

Nppw”G whwp t pnqupyt; U L £ mbuwlh wpnwnpulp, npytiugh dtnGup-
Ynipjwl hniph Yypw yuumwpywd dwhuup thGh GJuqugqnGp:

Muwunwufuw. 10, 15, 1900:

luGnhp 3: YtinGwpympjnilp pnnupymd £ U L A Gpynt mbuwl wpnmwnpuGp:
U wpunwnpulph hpugiwb dwjwp juqind E pphwinp wpnmwnpulph hpwg-
dwl owyuwih 40%-hg ny; yqujwu:

U wpnwnpulph hnwiph owjuup juqund £ 10, hul & wpmwnpulph hnwdph
owfhuup 20 wu dkY dhwynph hwdwnp: U L & wpnwnpulpliph qGipp hwdwww-
nwufuwlwpun hwjwuwnp GG 50 L 80 wu-h:

Nppw®G whwp t pnpupyt; U L £ mbuwlh wpnwnpubp, npybugh dtnGup-
YnipjwlG hnuiph ypw Juumwpwo owfhuup [hGh GJuquqgnyyGp, hul uwywubih
hwuniypp 1700 wd-hg ngy yuywu: Muunwufuw. 10, 15, 400:

luGnhp 4: EtyupnGwyhl wpyniGuptpnpyjul danGwpynipynilp pnpupynud
E tpym wnbtuwyh nwnhnplnniGhy, pln npnud, jnipupwlymnip mbuwh hwdwp
wwhwloynd £ wnwGdhl wmbfulGninghwlwl qho: UnwohlG qoh wpumwnpnipjul
opwlwl dwywn Juquinwd £ 800 dshwynphg ny wytih, Gpypnpng qoh™ 100 Shwyn-
nhg ny wlwu: Unwohl mtuwlh nwnhnplnniGhsh pnqupyiwl hwiwp wlhpw-
dtipwn t 10, huy tpypnpy 8 dhwldwl uvjubdw: Oquugnpdoynn ufutidwGtiph wy-
uwjuwl wnwybjugnyyG wuwpwnpp hwywuwnp t 4000 shwynpp: Unwohl U tipypnpn
wmbtuwlyltph Wty pwnhnplgniGhshg vnwgyuwo pwhnypp hwiwwywmwujuwlw-
pwp hwjwuwn £ 100 L 60 wu-h:
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Npnpty jmpwpuwlsjnip mbuwlh nwnhnplnmGhyGiph pnqupdw6 opwlw
wnpyniGwytim Swjuwipn: Muwumwufuwd. 320, 100, 38000:

lGphp 5: UM pGybpmpjwl wpunwhnpuipp hwlpwdwlw; nupdlbm L
wnpununpnipjul dwyjwin dhowgltint Guyuwmwyny yunwywphyp npn2ty £ gnuqg-
nt] wpmwnpubpp: CGYepmpjwl pynigtind gnjwqnh dwjuutinhG mpuwiwunpyuo k
wduwua 300000 wu-hg ny wybh: Ocwnhngnugnp jmpupw s nip pny bl wpdb
500 wd, huy htnmunwgnjuqphGp 5000 wu: Ujn yuwwdwnny pGytpnipjul
hwiwp atnGnnm L pwnhngulgp oqumuqgnpot] htinnmumnmwgulghg gnGt Gpym
wlqud wytjh hwdwfu: Uwlw)l Guwjunpny mwphGtph thnpdp gniyg t wnyby, np
htinntunmwgnyuqnp jnipupwlsymp pnybng wuywhnyyng hpugdwl swwp 2.5
wlquwy wybh E nwnhngnjuqnh vk pnyting wwwhnyynn hpuwgdw b dwjwihg:

Nwnhn L htnnunmwagnjuiqnh pinhwlnp dwdwpwlwlyp sybwmp L qlipw-
qulgh 4 d: Npn2t] nwnhn L htinntunwgnjuqnltph hwdwp mpuiungpjuo ngpu-
dwlwl dhongGtph wivwwl juywaqniyG pwpfunudp: Munwujuw. 200, 40, 300:

IuGnhp 6: CGYLpnp nLGp wpnmwnpnd £ X LY mbuwyh wpnmwnpulp’ oguw-
qnpotny A, B L C mbuwyh hnudp: Fpwlg wwpwnpp, vty dhwynp wpmunpuiph
hwiwp oqunugnpoynn hnudiph pwGwln, yuwdwnph qltpp L thnthnfunG dwjuubtpp
ptipwd GG unnpl wnynuwy Gpnid.

Upunwnpuwp A B C
X 4 5
Y 3 5 2
Muwpwn 220 250 240
Upunuwnpulp | Ywdwnph qhl Onhnfuni( dwfuu
/wu dty / dhwynpp/ | / wud vk dhuwynph hwdwp /
X 400 200
Y 500 350

Gt X U Y mbuwih wpnwnpuiph pnqupydwl wjl dwjuyp, npp dwp-
uhtiwgGmd E nGYtpmpjw pwhnyypp: {bnwgnunty &-6lu-h qquyniGmpymbGp X LY

wmtuwh wpnwnpuiph qGtph Gumdwdp: Mwwnmwuhuwd. 40, 20, 11000:

IoGnhp 7: UM pGytpmpmnilGp wpnwunpmd £ Epynt mbuwh wponunpup’ A L
B: A mbuwlh vty wpnwnpuwiph yuwdwephg pGytpnpnip vnwlnd £ 50 wd,
hulj B wmtuwyh vty wpnmwnpuiph yuwdwnphg 80 wu: A wmbtuwlh by wpunw-
nnuiph wpnwnpnipjwl hwdwp wGhpwdtipm t 4 dwpn/dwd L 60 wd hnudp, huy
B wmbtuwyh dty wpmwnpuGph hwdwnp 3 dwpn/dwd L 70 wd: Canhwlnip dwp-
n/duth puGwyp vwhiwlGuwthwy k3500, huy vty pwupwpyu hwdwp hndp qGhm
owhuup Gwuwwnbuwo £ ny wytiih, pwG 80000 wu:
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blswhupG wtwp E (hGh pGybpupjuwl wpnwngpuwl dpwghpp, npytugh
(iw ywdwnphg wnwybjwagny)l pwhnyyp unwlw:

Muwuwufuw. 0, 1166, 93328 wu:

FuGnhp 8: CaYytpnipyniGp pnnupynud £ vwhiwGwthwl pwlwynipjudp Gpynt
wmbtuwyh Jugph htinmy X L Y punugwo tptip pununppyGtphg A, BL C: X LY

X Y Mwywn / 4q./
A /qpud / 200 400 24
B/ qpuu / 500 100 25
C/qpud / 500 300 30
11-g unwgynny pwhnyypp /yd/ | 500 400

wmbtivwyh Jugph htinni) wpnwnpbint hwdwp oquuwgnpoytijhp A, B L C mtiuwlyh
pwnunphyGph wwywpp b hhGg (huip wpnwnpulph hwdwp oguwgnpoytithp
pwlwln ptindwo G0 unnpl:

X L Y wmbvwyh nppwl htinmly wbwp L wpnwnpty, npytiugh pGytpnipjwi
2whniypp (hGh wnwytjugniyGp: NMuwunwuuw. 34.3, 42.9, 34286 wu:

luGnhp 9: CayLpwygmpinilp wpmwnpnid b Gpynt mbuwyh wpnmwnpulp "A
L B: CGytpuygmpyjub A L B dty wpmwnpulp pnqupytint hwdwp, ytpunhp
owhwubpp’ npuyjw; L vhohG npwyh wpuwwmnnliph hwdwp Juqimd GG
huwiwywunwuhuwlwpwn 20 L 10 wyu ngpud: Npuljw) wuwnmnnGhph wuwmw-
dwitinh pwlwlyn wiuwlwbG 2000 dwd E, hull dhohlG npwlih w)fuwwmnnGbphln
2500 dw:

Unwbjugm)G wuwhwGownyp 1-hG mbuwih wpnwnpuiph hwdwup wduwywG
250, huy 2-pp mbtuwyh wpnuwnpuiph hwdwp wduvwywb 200 shwynp t, huly
(Juwquqgnt)G ywhwGownyp" hwdwwywwmwufuwGuwpwn 50 L 100 Shwynn:

Muwhwloynd £ Juquty wyGuyhuh dpwghp, npp wnwybjugnyyGh hwugbGh payk-

pwignmpjwl pwhnyypn:
UhwynnpGtph A mtiuwyp B wnbtiuwljh Q-(lugniguly
pwlwy wpunwnpwlp | wpnwngpuip
Jwdwnph qhG, /up/ 115 120 -
<muip 4o/ 6 4 5w/ g
Uylnwmnwdwy
IlIluﬂ.L]u.l]_ 5 10 3 wu/ dwd
ShohG npwlh 10 10 2 yi/ dwd

Ut dhwynp wpmwmwnpulph yepwptpyjuw) dwlGpuwdwuGbpp ptpjuo 66 wn-
Joruwynid: Muwunwubuw. 100, 150, 12500 wu:
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IuGnhp 10: UM pGYtpnipyniGp wpnwnpmd £ Gpyne mbuwyh thnpbhwG A U B:
A wmbtuwlh kY hnpthwlh Judwnphg pGytpnipniGp vnwind £ 90 wd, huy B
wmbuwyh dtYy thnpthwlh Juwdwnphg 75 wu: A mbtuwyh dty thnpthwlh wpnw-
nnnipjwl hwiwp wlhpwdbywm k4 dwpy/dwd b 40 wd hmdp, huy B mbuwlyh dty
thnpthwGh hwdwn 3 dwpry/dwd b 60 wd:

{wjwmbh b, np A mtuwl thnpthwGh hpugdwG dSwjwp Juqind & B mbuwly
thnpthwGh hpwgiwl owywih 60%-hg ny ywwu:

CGnhwGnip dwpry/dwdtph pwiwyp vwhdwGwihwy £ 4200, hul dbY pwpwp-
Jw hwdwp hnwdip qltynt dwhiup Gwhuiwwmtiuwo E ny wytith, puG 100000 upd:

hGsyhup®G wbwp t (hGh pGYtpmpjwl wpnmwnpuywb opwghpp, npybtugh
(w thnpthwGGtph Judwnphg wnwybjuwagny) G pwhnyp unwlw:

MuwmwufuwG. 467, 778, 104222 wu:

luGnhp 11: «G-G-U» UM plGybpmpjmbp ShGwGultph nnpumd junphpw-
njuwuwl dwnwjmpjnlltp £ dwnmgmd Gipgpdwl jwjwugnyyG thwpbiph dLw-
YnpiwG Yytpwpbpjwy:

{wdwhunpnp guGyuimd k 27416 ngpuwd GepnlGh; A U B wpnymGupbpuywG
atinGwpynipnGGtph pwdibnndutinh Ut Gpynt mhyh pwdGtwmndutiphg qGtny
ny wytih pwG 6000 hww, pln npmd npll dbnGwpynipjwl pwdGtmndubph
pwlwyp sytinp t gipwqubgh 5000-hg:

A dtinGupynmpjul vty pwdGhmniuh wpdtipp’ 5000 npwad k, huy B dtinGwp-
Ynipjwl vt pwdGtnniuh wpdtpp 3000: «9-Q-U» plGltpnipjwl qGwhwmdwdp
hwonpny mwpmd A L B dtnGwpympymGGtph dtYy pwdGtmniuhg uywuybihp
owhp uqubm £ huwiwywunwupwGwpunp 1000 L 750 npuid:

hGswhup®G t pnGyipmpjul ywwwufuwlp hp hwdwhunpnhG:

Muunwufuw@. 4500, 1500, 5625000 npuwd:

luGnhp 12: UM pGytipmpniGp wpnwnpnd £ Gpyne mbuwyh wpnwnpulp A

L B: A L B mbuwlh vty dshwynph Jwdwnphg pGytpmpmGp vnwlnd k
huwiwywunwuhuwlwpwnp 600 L 500 wu: A mbuwyh dtY dhwynph wpmwnpni-
pjul hwdiwp wGhpwdtyn £ 5 whuwnwdwd L 1000 Shwynp hnwip, huy B
wmbtuwyh dkYy dhwynph hwdwp 8 wyjuwwnmwdwd L 600 thwynp: CGnhwlnip
wyfuwmnmwdwih pwlwlyp vwhiwluthwy t° 2000, huy vty wpwpyuw hwdwnp
hnudp qGhm dwhiup Gwuwwmtudwd t ny wytih, pwG 500000 wu: {wjymbh kt, np A
wmbuwl wpnunpulph hpugdwl dSwjwip juqind £ B -h hpwgdwl dwjwih
20%-hg ny wwywu:

hGsuyhup®G wtwnp bt (hGh pGytpmpjul wpnwnpuul opwaghpp, np Gu
wpunwnpulph yudwnphg wnwytjugnijl pwhniyp unwlw:

Mun. 400, 0, 240000 wu:
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IuGnhp 13: QtinGwpynipjnilp pnqupynid £ Gpynt mbuwy wpnmwnpulp” A L
B: A wpnwnpuiph hpuwgdwl dwjuwp qipwquignid £ B wpnwnpwlph hpwg-
dwl owjuwin 3 wiqui: Ujn wpnwnpulplhph pnqpupiwl hwiwp yquwhwloynn
hnudiph Wby wivquw wuwpwpp Juqund £ 6000 dshwynp: A wpumwnpwlph dkly
vhwynph hwdwp hnwiph dwhiup Juqind t 20, huy B wpmwnpulph hnudph
owhuup 40 dhuynp: A L B wpmwnpwipGtph qGtpp hwiwywunwuuwwpwn
hwjwuwnp GG 300 L 700 wu:

hGswhup®G whwp t (hGh wpnwnpuw opwghpp, npytiugh dtnGupynipjuwl
hwunyypp 1hGh wnwybpugniyGp: Mwnmwufuw. 180, 60, 9600 wu:

IuGnhp 14: Gpym mtuwyh wpniGuwpipuywl wpnwnpuiphg jnipupwi-
sJmpp hwonprupwn Bwpynd k Gptip mwnpptp hwuwnng Gopny:

LwuwnngGhpp upbh £ ogumugnpot) opwyuG hwdwwwwmufuwlwpup 16, 24
L 18 dwd: Unynuuwlnud Ghpjujugwd GG jnipuwpwlsjnp mtuwyh dhy wpnw-
nnuwiph Yywlpiwl dwiwlwlp L ywdwnphg unwgyuo pwhnijpnp:

Upunwnpuwp Upunwnpuiph Gywliwl dwiwbwyp Cwhnyyp
(nnuyk)
I hwuwnng [ hwuwnng [IThwuwnng
8 8 12 200
2 10 16 9 300

Qubtp jnipwpwlyynmp mbuwih wpnwnpulph poqupyiwl jwjwagniyl ow-
Jun : Mwwnwufuw. 20, 80, 28000 wu:

TuGnhp 15: dtpdtipp whwp £ npnph Gpyne yngumnipwltph gulph judugney
huwdwlygmpynilp: bw hp wpwdwnpnipjuwl wwl nGh' 70 h Jupbuwhng, 90
wmpwlnnp/dud, 220 Ywpr/ op wpfuwwmw lpwjhl nhunipultin:

8nptG (1 h) GQuipunndhy (1 h)
Phppwwnynipyni (g) 20 100
StjuGhywjh owhiu (np / d) 0.6 4.6
Uhuww. ntu. dwuu (Jwpn / on) 2.0 10
1 ghGuGtph uyuuytijhp qhlnp (W) 150 100

Uty ubignGh hwdiwnp jnipupwlynip Ynyunmpwjh ybpwptpjup wmyjwGhpp
Ghpyuwywgywo GG Yytpp pipduo wnnuuwnud:

luGnhpp oty GGy wowytjuwagnyyG Gludnin vnwlunte suhwbhhg:

Muwunuwufuw. 60, 10, 280000 wy:

luGnhp 16: Mwhwloymd b tghywwgnptlh L qupnt fuwnGmpnny Juqiby
opwwwhhy fungmyGtphG Ytpwyptme hwdwp: {wjwGh b, np dtYy fungniyh
opwuwwhhyp whwp L wwnpniGwyh 2.4 4q Ypwjhl shwynp L 320q ypnnthG:

Nputiu funph modwl ywthwbhy Yytpglt GjuquagniyG owhuup:
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U2Jwod ullnubnpbph pwGwyp qupnt L ighywwgnptGh vk, hGyuybu Gul
wjn dptinpGtph qGtpp pipdwo 66 wnnuuwynd:

UGGnwGynplpp Gahwywwgnnpbl (1 4q) | Gwph (1 4q)
UtinwjhG dhwynp (4q) 0.6 0.8
MpnunkihG (q) 100 80
Q-hGp (npwi/yq) 60 50

Muwunwufuwd. 2, 1.5, 195 wu:

IuGnhp 17: Qw)yt hptph wpnmwnpmpjul «Lwhph» denGuwpynipnilp, npp
Jwulwghwmwghy & dtnlngGhph wpmwnpmpjwb dke, npnpty £ hp niGigwo ntunipu-
Gtph vwhiwGGEpnd wpnwnnty Gwl jutwgh ywnwwyGbn:

Cnijwjh nunudGuuhpnipjniGhg wupqyly b, np dtnlnglGtph ywhwGowpyn
sh qipmqubgh 500 qnujqhg, qhlGp vywuynid k 3000 npwd, hul wywjnuwwyGbph
wwhwGouwpnll nt ghGp’ 250 ywjmuwy L 9000 npud:

dtnGwnpynmpjul mlhguwo ntumpultph L dwjuubph Ytpwpbpnn wnbntyn-
pmiGGtpp pipdwo GG uvnnpl wnymuwyniy:

(Fhunipultph Ut dhwynph Yypw dwuup (Fhunipultipp
wmbtuwyGtpp wwwnnp
Qdunlng (qniyq) | Mwynuwly ‘
Guiph (67) 0.4 0.8 320
Qpud. nbu. (hwq. ngnud) 0.3 1.2 360
GQunh dtptGw/dwud 0.5 1.2 500

Npnptp wpnwnpoipjwl jujugnyyG Junmgywopp, hpwgnuihg wonwybjw-
qnij0 hwunyyp unwlGwnt swhwGhyhg G Ghny:

Uihnfugtip wpyn®p fulnph inuomdp, tph

w) Juph WkptiGuGtph hqnpmipjm Gp wytpuwGwnp 100 shwynpny,

p) wuyniuwyGtiph ghlGp mwwmwytp 8000 - 10000 npud,

GQuumuwnplb] vnwgywo wpyniGpGtph ytpniongpjni(:

Muunwufuwd. 400, 200, 30000 wu:

w) (monuip sh thnfuyh, p) puonwip sh thnfuyh:

Uwmnnpl pbpywio fulinhplGoph hwdwnp huqily gowhl opuwgpdwl dnpbyp:

loGnhp 18: UhowqqujhG puwGwjhG uquwytpynmpjwl GipgpnuiGhph qony
JuwnwwphsG hp mpudwnpnipjul mwy niGh 600 ¥i6. wu: Lw nunmdGuuppmy k
hGwpwynp GhpgpmuiGiph ynpu mwuppbpuly.

1. whtunwywb wpdtpnphn,

2. pGytpnipymGGaph wpdtpnphn,

3. uyuwuwpyiwl nnpnp §ynintiph hwuwpuy pwdGtnndutp,

4. wpunuwnpnipjwl ninpunp §ymnbph hwuwpwy pwdGtwmndubp:
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Swptuwl nmnynuwnpnypp 1, 2, 3, L 4 nmwppbpwyltph hwdwp Juqind k
6%, 8%,15%, L 12% hwiwwwwnwufuwlGwpwp: AGtppyuo ngpuiwlwb thengGti-
pp ulmud GG pwGlughG hwpynid L pipnd G0 mwpbuG 3% pwh:

Quinwywphsp npn2b £ 100 Ui6. ngpuihg ny ywwu Ghpnlh; dhmpniGGhph
wndtpnptinh Wte, hul nhuyh mwpptipny GepnpouiGlp Jumwuptg 250 Ui6. npudhg
ny wybtjh: Pwugh wjn, (w hwdwpmd £, np gpudwluwb dhongGtph gnGt Ytup
whtimp L GepnGh; hwuwpwy pwdGhnndubph dt9, hul GipnpmuiGtph plnhwlnip
qniiwnh vty pwnnpmhg ny wytihG wpnwnpnipjwl ninpup §intiph pwdGtnnd-
utinh dby:

GQunwyuwnhsh Guyumwy E dwpuhdwgGty GhipnpnudGhph yepunuwnpddwG sun:

loGnhp 19: «dwl» dtinGupympjul fuwlnpp hp nmpudwnpmpjul wnwl
niGkGuwny 500 6% mwpwdp, 360 wyuwwndwy ntuntpulbp L 100 hwq. ngpud ypw-
Gwnn dhongGtn qpunymi t 4 wmbuwyh wypwlplGtph Juwdwnpny: 3Bnipw-
pw(ygjnip mbuwyh shwynp wwypwlph yuwdwnphg uywuynn Qwhniyplbpp hwiw-
wwunwufuwlwpwnp Juquind ta 90, 70, 60, L 40 npw:

Uunnple wnnuuwmd pipjwd GG jmpupwlsynp mbuwyh wypwlph shwynph
wypuipwypowwnmpjwb Yypw ntunipultinh Swjuubpn:

(FhunipuGlp Uwpnwlph mbuwlGtipp
I II I v
Unlunpulw G nwhih6h dwytintiup 10 |5 2 1
Uuwmwdwidtiph wywpwpp 6 2
Cpowlwnnipjwl dwiuubpp 45 | 25 30 10

Qun(l), pti np wypwlphg hGypwl wtinp b Judwnh «dwl» dunGupynipjul
fuw Gnipp, nputugh vnwlw wnwytjugnyyG Jwhnyp:



